. .
W

Write the missing number.

Addition properties

e -+ 0 = 6 0 B = 6
+ 7 = 17 10 = 17

11 + = 11 11 = 11

4 + = 12 8 = 12

15 < = 19 13 = 19
+ 3 = 3 3 4 =

Circle the addition fact that has the same sum as 2 + 3.

SEF> 442

Circle the addition fact that has the same sum as 5 + 8.

;G 6 + 6 34+ 9

Circle the addition fact that has the same sum as 1 + 7.

8+ 2 Z +5 ¥ +1

Circle the addition fact that has the same sum as 10 + 6.

7+ 4 94+ 9 6 + 10

Circle the addition fact that has the same sum as 4 + 2.

1 + 6 2 + 4 3 + 2

Circle the addition fact that has the same sum as 9 + 5.

5+ 9 7 + 6 10 4+ 5




